Towards the decimal notation (2):
organized sets of 10, 20, 30 objects (boxes of 10 marbles)
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Pickmarble has 2 boxes full of marbles and Dédé has 9 marbles. They decide to put
' their marbles all together.

Together, Pickmarble and Dédé have

If you aren'’t sure, lift the lids up and count.
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Stick the lids on, and then answer. If you aren't sure, I|ft the lids
- up and count.

Together Pickmarble and Dédé have @ marbles.
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Together Pickmarble and Dédé have marbles.
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A. Dictation of numbers up to 50 at least with B and C. Countlng organized sets of 10, 20, 30 objects when these objects are masked Each box

some numbers between 11 and 16. corresponding to a counting of 10, the learners will begin to count in 10s: 10, 20, 30..



